@@ @ .\ HTE = (2 5t2])

s, =Rt ISR
6.32 7.22 9.06 3.83 2.11

X 3.45 X 4.04 X 2.72 X 6.09 X 7.4
1.87 7.1 3.67 4.25 3.02

X 7.53 X 2.12 X 5.36 X 9.38 X 2.66
6.88 5.2 8.27 9.21 6.36

X 6.75 X 845 X 8.26 X 9.44 X 3.72
90.84 9.22 9.52 1.62 1.74

X 4.09 X 9.94 X 4.67 X 9.5 X 6.49
1.67 2.26 6.96 6.38 4,93

X 6.05 X 8.85 X 7.47 X 8.37 X 4.37
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A A N

A2 S (2 Rt2])
O| & =R} =
6.32 7.22 9.06 3.83 211
X 3.45 X 4.04 X 2.72 X 6.09 X 7.4
21.804 29.1688 24.6432 23.3247 15.614
1.87 7.1 3.67 4.25 3.02
X 7.53 X 212 X 5.36 X 9.38 X 2.66
14.0811 15.052 19.6712 39.865 8.0332
6.88 5.2 8.27 9.21 6.36
X 6.75 X 845 X 8.26 X 9.44 X 3.72
46.44 43.94 68.3102 86.9424 23.6592
9.84 9.22 9.52 162 1.74
X 4.09 X 9.94 X 4.67 X 9.5 X 6.49
40.2456 91.6468 44,4584 15.39 11.2926
1.67 2.26 6.96 6.38 4,93
X 6.05 X 8.85 X 7.47 X 8.37 X 4.37
10.1035 20.001 51.9912 53.4006 21.5441
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